
Addition Pâques (C)Obtenez un œuf en chocolat pour chaque réponse correcte. Œuf en chocolat obtenu: _____/2512 14 18 8 5+ 1 + 3 + 18 + 10 + 3
2 18 2 15 7+ 0 + 11 + 2 + 5 + 1

15 14 5 10 10+ 3 + 13 + 14 + 0 + 11
6 15 13 5 6+ 11 + 13 + 18 + 7 + 1

18 18 7 15 3+ 13 + 15 + 9 + 0 + 7
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Addition Pâques (C) RéponsesObtenez un œuf en chocolat pour chaque réponse correcte. Œuf en chocolat obtenu: _____/2512 14 18 8 5+ 1 + 3 + 18 + 10 + 313 17 36 18 8
2 18 2 15 7+ 0 + 11 + 2 + 5 + 12 29 4 20 8

15 14 5 10 10+ 3 + 13 + 14 + 0 + 1118 27 19 10 21
6 15 13 5 6+ 11 + 13 + 18 + 7 + 117 28 31 12 7

18 18 7 15 3+ 13 + 15 + 9 + 0 + 731 33 16 15 10
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